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2008-09 District Competition

Match #6 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Hippolytus was the first one of these figures. The last one to have widespread support was Felix V. Modern ones like Michael I and Pius XIII have little support. What people are claimants to, but are not recognized as, the head of the Roman Catholic Church? 

ANSWER: antipope(s)

2.
This painting’s model was probably Simonetta Vespucci. The Zephyrs are blowing the title figure towards shore, where a minor goddess is helpfully holding a cloak. In what Botticelli painting is the titular goddess emerging from a seashell to spread love? 

ANSWER: The Birth of Venus
3.
This novel’s protagonist is arrested for helping pass messages to mobster Sally Tomato, but escapes to Brazil. Other characters include model Mag Wildwood and I.Y. Yunioshi. Holly Golightly appears in what novella by Truman Capote? 

ANSWER: Breakfast at Tiffany’s
4.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Two angles are supplementary.  One of them is given as 25X over 8 and the other 7X over 8.  Find the value of X.


ANSWER:  45
5.
The ‘reduced’ version of this constant divides the constant by 2pi and is named for Paul Dirac. Equal to 6.626 times 10 to the negative 34th joules per second is what constant, named for the a founder of quantum theory? 

ANSWER: Planck’s constant

6.
Ironically, this poem’s writer destroyed several of the title objects to create his home’s lawn. The poet holds that the title objects ‘look at God all day’ and that he will ‘never see / a poem as lovely as’ the title object. What is this poem by Joyce Kilmer? 

ANSWER: ‘Trees’

7.
This office owns a special red briefcase and is one of the Great Offices of State, along with the Home Secretary, the Foreign Secretary, and the Prime Minister. What office in the British cabinet is responsible for economic and financial matters?

ANSWER: Chancellor of the Exchequer
8.
In the sentence, ‘Acting is my passion,’ the word acting is what form where a verb’s present participle serves as a noun?


ANSWER: gerund
9.
Authorized under Title XII of the Social Security Act, it began in 1997. Despite its name, 670,000 adults receive benefits. Designed to help families whose incomes are too high for Medicaid, what program’s re-authorization was vetoed in 2007 by President Bush?

ANSWER: S-CHIP or State Children’s Health Insurance Program
10.
It is located near the tenth thoracic spinal nerve and is opposite the third and fourth lumbar vertebrae. Due to thinner muscle layers, the region around it is susceptible to hernia. What structure on a human appears after the falling off of the umbilical cord? 

ANSWER: umbilicus, navel or belly button
11.
This six-letter word comes from Latin words meaning ‘true’ and ‘to make.’ It means to prove something’s truth or to confirm something said by another. What did Ronald Reagan say should be done after ‘Trust?’ 

ANSWER: verify

12.
Planets in this game series include Argus, Xoroth, and Draenor. Continents include Northrend and Kalimdor. Races include the Tauren, Draenei, and Night Elves. What Blizzard series features conflict between the Human-led Alliance and the Orcish Horde?

ANSWER: Warcraft
13.
Examples of one include the Canadian Wheat Board. A hypothetical example is a town with one employer that pays the same wage to everyone, and another real example is defense contracting within a single nation. What imperfect competition model has only one buyer? 

ANSWER: monopsony
14.
The Atkins diet attempts to force the body to burn these organic compounds instead of carbohydrates. They consist of two R-groups joined by a carbonyl group. What class of organic compounds includes acetone? 

ANSWER: ketone(s)

15.
His passage of the Law of 22 Prairial meant his Revolutionary Tribunal needed no witnesses. The Thermidorian Reaction marked the end of his power, and he was guillotined on July 28, 1794. Who was this leader during the Reign of Terror? 

ANSWER: Maximilien Robespierre
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What Jacques-Louis David painting hangs in the Louvre and depicts three brothers giving the Roman salute? 

ANSWER: Oath of the Horatii
1B.
In what Stephen King work is John Coffey a prisoner, with the power to heal people, awaiting execution for the rape and murder of two young girls? 


ANSWER: The Green Mile
2A.
What President signed the Sherman Anti-Trust Act into law?


ANSWER: Benjamin Harrison
2B.
What is the gel-like fluid that fills up the eye between the lens and retina?


ANSWER: vitreous humour (prompt on ‘humour’ and do not accept ‘aqueous humour’)

3A.
What eight-letter word meaning ‘bad’ or ‘threatening’ is almost directly descended from the Latin word for ‘left’? 


ANSWER: sinister
3B.
What river flows through the cities of Budapest and Belgrade?

ANSWER: Danube
4A.
What form of asexual reproduction involves a single cell dividing into two identical cells?


ANSWER: binary fission
4B.
What cut of beef, located behind the rib, is the source of porterhouse and T-bone steaks?


ANSWER: short loin (prompt on loin, do not accept sirloin)

5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.   There are six teams in the local academic competition conference.  If each team plays every other team twice, how many total contests will be played? 

ANSWER:  30

5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.   First raise one-half to the square root of two power.  Then raise that amount to the negative square root of eight power.   What is the result?   (
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ANSWER:  16
6A.
Hold down this key, and while holding the key, type in 156. What key can be thus used to create a pound symbol? 


ANSWER: Alt
6B.
What term describes materials, such as glass, that exhibit no long-range order, as opposed to crystals that do exhibit long-range order? 

ANSWER: amorphous
7A.
What is the English translation of the French number, ‘trois cents quarante-cinq?’ (twah SAWN kah-RAWNT-sank)

ANSWER: 345
7B.
Rick Perry is the current governor of what state?


ANSWER: Texas
8A.
What musical contains the song, ‘There’s Nothing Like a Dame’?


ANSWER: South Pacific
8B.
What country is the setting of The Handmaid’s Tale? 


ANSWER: Republic of Gilead
9A.
What European country was ruled by the Stalinist dictator Enver Hoxha (HAW-jah) between 1946 and his 1985 death?


ANSWER: Albania
9B.
In 415 B.C., during the Peloponnesian War, Athens sent a huge army to attack what city, the most powerful Greek colony on the island of Sicily? 


ANSWER: siege of Syracuse
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. Consider the following new operation defined with a pound sign: A#B = 1/A – 2/B. (read as: A pound B  = 1/A – 2/B.) Now, find 5x/3 # 7y (read as: 5x divided by 3 pound 7y.) 


ANSWER:  (21y-10x)/35xy

10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Seven unique points all lie on a circle.  Using any four of these points we can inscribe a quadrilateral.  How many such quadrilaterals can be formed?


ANSWER:  35
Third period, 15 toss-ups, 10 points each

1.
This rock was once quarried in Maine to make roofs, such as that of St. Patrick’s Cathedral. This rock’s uses include the surface of pool tables and older blackboards. What metamorphic rock is the result of subjecting shale to heat and pressure? 

ANSWER: slate
2.
He buried Zartan and Firefly alive after he was brought back to life by his Crimson Guardman Fred VIII.  He was nearly overthrown in the comics by Major Sebastian Bludd and on television by Serpentor. Who is the leader of the terrorist organization opposed by G.I. Joe? 


ANSWER: Cobra Commander

3.
It was initially ‘hailed in God’s name’ as ‘if it had been a Christian soul.’ It was followed by ‘a good south wind’ What creature is then shot with a cross-bow by the title character of The Rime of the Ancient Mariner?
ANSWER: the albatross
4.
Landmarks here include Grand Avenue and Frozen Niagara. It is named for the ridge it is underneath. In 1972, a connection between it and the Flint Ridge Cave was discovered, making it the world’s largest cave. What is this landmark in Kentucky? 

ANSWER: Mammoth Cave National Park or Mammoth Cave System

5.
He lost a contest with Athena to become the patron deity of Athens. With his wife, Amphitrite, he had a son, Triton. He raped Medusa and thus fathered Pegasus. Who was this god of horses, earthquakes, and the sea in Greek mythology? 

ANSWER: Poseidon
6.
A change in its plans meant Brigade 2506 was isolated from other anti-Communist rebels in the Escambray Mountains. The Americans also canceled the second round of air strikes. What was this April 1961 invasion to overthrow the government of Cuba? 

ANSWER: Bay of Pigs
7.
The opposite of this process is deposition. To occur, the temperature and pressure must be below the triple point. It is useful in creating freeze-dried products. Dry ice becoming carbon dioxide is an example of what phase transition from solid to gas? 

ANSWER: sublimation
8.
In 1793, he founded New York’s first daily newspaper, The Commercial Advertiser, but he is more famous as an educator. He learned 26 languages so he could document his etymologies. In 1828, who published An American Dictionary of the English Language? 

ANSWER: Noah Webster
9.
It ends with 29 bars of C major chords. It was played at the debuts of the New York Philharmonic and the National Symphony Orchestra. What is this symphony, notable for its short-short-short-long introduction, by Beethoven?

ANSWER: Beethoven’s Fifth Symphony

10.
This document would have meant paying $120 million or starting war, and was written by Pierre Soulé, John Mason, and James Buchanan, What paper, named for the Belgian town where it was drafted, detailed an 1854 American plan to buy or conquer Cuba? 

ANSWER: Ostend Manifesto

11.
He was born in 1864 near what is now Diamond, Missouri. He was the first Black student at Iowa State University. What botanist that worked at the Tuskegee Institute made over 100 inventions using the peanut? 

George Washington Carver
12.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Rebecca works three hours each day and earns $7.50 per hour.  How many days will she have to work to earn $180?


ANSWER:  8
13.
He first achieved fame with Liza of Lambeth and his later work includes The Razor’s Edge. His real-life stammering became his character Philip Carey’s clubfoot. Who is this author of The Moon and Sixpence and Of Human Bondage? 

ANSWER: W. Somerset Maugham
14.
This status can be noted by a hechsher mark on packaging, the most common of which is a ‘U’ inside an ‘O’ for Union of Orthodox Congregations. What adjective, similar to halal in Islam, describes food that is in accord with dietary laws of Judaism? 

ANSWER: kosher or kashrut

15.
Its dubia species is actually a millimeter and visible to the naked eye, but its proteus species is most often used to study protozoa and cell structure. What genus’ name is often given to any one-celled organism which moves via pseudopods? 

ANSWER: amoeba
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This theorem is used to prove that complex numbers are a closed field. It also states that every polynomial with one variable and complex coefficients has one or more complex roots. What theorem also states that a polynomial of degree x has x roots? 


ANSWER: Fundamental theorem of algebra (prompt on a partial answer)

2.
He signed a ‘Great Treaty’ with the Leni Lenape in 1682, a treaty that is depicted in the US Capitol’s Rotunda. His son and successor, Thomas, tried to restrict religious freedom, even for Quakers. Who founded the city of Philadelphia? 

ANSWER: William Penn
3.
He slays two magicians: one of whom killed the real Fatima, the other of whom had transported his palace to Morocco. He used his magic ring after his wife exchanged an old lamp for a new lamp. Who is this character from the Arabian Nights? 

ANSWER: Aladdin
4.
This band’s newest member is Robert Trujillo, who joined in 2003 after the departure of Jason Newsted. The founder of Megadeth, Dave Mustaine, was originally a member of what band whose founders include Lars Ulrich and James Hetfield? 


ANSWER: Metallica

5.
Its definition was drawn up in 2006 by Julio Angel Fernandez. Two important aspects are that it has sufficient mass to be round, and that it has not ‘cleared the neighborhood’ around its orbit. What status was given by the IAU to Eris, Ceres, and Pluto? 

ANSWER: dwarf planet(s) (DO NOT accept or prompt on ‘planet’)
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